> 143

ans =

»» 13-4

ans =

> 12%3

ans =

36

> 36/3

ans =

12



>> x=[1 2 3 4 5];
3> X<y

ans =

1x5 logical HHE

> XL=Y
ans =
1=5 logical HiE
1 1 1 ©
> ¥x==y
ans =
1=5 logical HHE
0o 0 1 ©
> X3=y
ans =

1=x5 logical HHE

> OR3BY
ans =

1=x5 logical HHE

y=[5 4 3 2 1]:



>> a=3;
>» if a<l
b=a+l
else
c=a+2

end

»» for x=0:2:10
a=2"x

end

a =
1

a =
4

a =
le

a =
64

a =
256

a=

1024



>> a=1;
>>» while a<4

a=a+l
end
a =

2
a =

3
a =

4

»» a=1; b=2, c=3;

b =
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Ld
9 8.2 9.4 9.6 9.8 10 102 104 106 108

»>> plocdx, ¥, '-——r8'! ‘LincWidch' .2 "MarkcrEdgeColor!;'"kE";
"MarkersSize',10)

>>» T=inline ("X "34+6%x-2"', "'x");
»>> £([3)
ans =

43

»>» f=inline {'x."3+6%x-2"',"'X"});
>> £{[3 4 51)

ans =

43 Ee 153

11



»>» X=linspace(0,5,6)

L_z'i Figure 1 = O

oEF EHEE 270W 480 sM H23ED W ESEH

Dade | @08 | L E

>>» t=linspace (0,2%pi,100),; x=2*cos(t); yv=2%*31in(t);
>>» plot{x,v)
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= 1
>>» t=linspace(0,2*pl,100); x=2*cos(L); y=—2%*sin(t);
>>» plot(x,y): axis sguare;

L
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051

*» t=linspace (0,2%pi,100});
>» plot(x,v): axis egual
>

X=2*cos(t):

v—2%3in(t):
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»>> t=limspace {0,2%p1,100}; x=2*cos(t}:; v=2%s3in({t):
>> ploti(x,¥), axis image;

Jroas



»>> ones({3)

ans =

1 1 1
1 1 1l
1 1 1

»> zeros(2)

»> C=[1 2 3]:; length(C)

ans =

o= [l203y 455 & 8 -8]
»> sum (k)

ans =

12 15 18

»> abs(-3)

ans =



testm | + |

1 12
2 3.500000 4,500000
3 1.000000e+02 1.00000024+03
a4

=2 E

>> fp=fopen('test.m','w"'}:

»» Tprintf{fp,'%d %d\m',
»» fprintf(fp,'3f 2ft\m',
»» fprintf(fp, '%e %e\n',
== fclosze (fp):

>>» a=load{"test.m"});
*> a

1.0e+03 *
0.0010 0.0020
0.0035 0.0045
0.1000 1.0000

1, 2):
3.5, 4.5);:
100, 1000);

»> Random matrizx=rand(Z, 3}

Random matrix =

0.8147 0.1270
0.9058 0.9134

>» rand{'seed', 3}
>> rand(2,3)

ans =

. 5387 0.0512
3815 0.2851

(= R =

0.6324
0.0875

0.3010
0.1277



